B VCE & PDF https://lwww.geekcert.com/ncs_20022101010.html
' 2024 Latest geekcert NCS_20022101010 PDF and VCE dumps Download

GeekCert.com

NCS 20022101010°%4¢

NCSS 2G RA OaM 2.2

Pass Nokia NCS 20022101010 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/ncs_20022101010.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Nokia
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

Latest NCS_20022101010 Dumps | NCS_20022101010 VCE Dumps | NCS_20022101010 Practice Test 1/3


https://www.geekcert.com/ncs_20022101010.html
https://www.geekcert.com/ncs_20022101010.html
https://www.geekcert.com/ncs_20022101010.html

VCE & PDF https://lwww.geekcert.com/ncs_20022101010.html
2024 Latest geekcert NCS_20022101010 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

What stack is used for monitoring DAP channels in Dynamic Abis in M5 Nethawk?
A. DAP 16 Kbps.

B. Nokia Abis GPRS.

C. PCU 16 Kbps.

D. Nokia Abis Signaling.

Correct Answer: B

QUESTION 2

Which library is used to capture packets by wireshark in windows?
A. WinPcap.

B. WinDLL.

C. WinLin.

D. WinWire.

Correct Answer: A

QUESTION 3

What is the service terminal extension for BCF software handling?
A. BOXANAGX.

B. VIMMLAGX.

C. RPHASESX.

D. EPSHANGX.

Correct Answer: C

QUESTION 4
Which program block is responsible for hardware alarm collection in BSC?
A. EALSMU.

B. ALARMP.
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C. HWALCO.
D. DPALAR.

Correct Answer: C

QUESTION 5

The decision to perform a handover for signal reasons is always made by?
A. The BSC that is currently serving the subscriber.

B. The BTS that is currently serving the subscriber.

C. The target BSC.

D. The target BTS.

Correct Answer: A
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